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What 1s average?
A single value (such as a mean, mode, or median) that
summarizes or represents the general significance of a set

of unequal values.
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FORMULA:-

Sum of Observations

Average=
5 Total Number of Observations
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Question 1- Find the average of 67, 72, 77, 82, 89
54 1- 67, 72(77,)82, 89 1 STl 1 IS

Lt ounage(AFT 3k =
AW%?G(?W): 7 Waj/( ( = 5

853,49 Y
S ;f;_LI 3014935 (7 A.77

- = C.76.4
a0 %’ 46y D674
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Question 2- The average weight of 20 personsis increased by 2

R kg when one person of weight40 kg among them is replacedby

new person. Find the weight of new person.

T : : .
> T 2- Q0SHIHAl o STTer oI5 W feRuL <Al i TId & STef 3
40 fSRITY Ueh <k ol AU ik © Slaefud foRam STt 21 AT
@ O;J\Irh ST ST JTd ehifsTy) A.70 kg
el AR = g‘DﬁrQon B.110 ke
= Yoy C.90 kg
R ‘ :
R YA AT = Ho g D80 kg
e
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Question 3- The average expenditure of 8 person out of 9 1s'Rs 30 . If

the expenditure of 9™ one is Rs 30 more than the average expenditure

of all the 9. Find the expenditure of 9" one.
T 3- 9 T O 8 ARKAT AT 1T & 30 8921 2 IS 99 =ik b1 @i 9

% SI1Hd o33 | 30 %9 MUk 3| el SHfch kT =4 FTd IS

A.Rs 55.5

B.Rs 40.5

C. Rs 25.5
(PRs 63.75
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Question 4- Find the average of first 50 natural numbers.
TS 4- TUH 50 TTehicieh ST T 3TEd J1d ki

gm(ETJO-— NN+1)

>
= 904 _AT55
Y B.20.5
= A_Q¢ C.31.5
= D.30
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Question 5- 10 years ago average age of P and Q was 33 years.
The present average age of P , Q and R 1s 35. Find the present age

of R.
qas@@ﬁ(pﬁaﬁmmﬁaﬁﬁm Q TR I

SIAHT STTE AT 35 9 & R sl T SR 1 shifsr|
@ QD_{_Q) WT:[ N% Cﬂ_(%\\ 33XQ—\—\O+ A.21 years

B. 23 years
<~ 869
@ﬂ‘t '\ AR LS ,R: bﬁ*&{ C. 14 years
Y .::?5@0 G
A =
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Question 6- The bating average of a batsman for 40 innings is 50 runs. The

highest score exceeds the lowest by 172 run. Now excluding these two innings

the average scores becomes 48 runs. Find the highest score.

557 640 TFET T Ueh SeIeTT T SeIETS S50 T 2] ITaH ThT T B D
172 T @ 311 5| 3T 37 QM1 qTiT ohl SIS & A S6d SR 48 T &1 ST 2

EtEIEIII%Sﬂ?T SN A. 100 runs
30 B. 200 runs

C. 150 runs
UDP7174 runs
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Question 7- Out of three number first number is twice of second and

third number 1s thrice of first. If there average i1s 36 then find the largest

number.
T 7- i AT H H T Sl Sedl ST shi ST § S el de
qs«ﬂ G <l i {fﬁ%l?rﬁ{ : SIRELEE R ISR
_\ A. 60
[2 : Q})ﬂ 36)(?5 B.70
E 36;<3 430 Sy
% D72
0= Rys
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Question 8- The average expenditure of a person for first five
month in a year is Rs 5000 and that of next seven month is Rs
2300. Find his average monthly -m-.eeme&/wndr{wu .

T 8- Ueh SAT<h ol 9N o Yacd Tiel HEIHT o1 ST 39 5000 T 8
3T 3T G HelH1 AT A1 2 2300 TIY B 3GhT 3T ATfdeh
&SN J1d 1T A.Rs 3400

Eﬁf B.Rs 4335

__C-Rs 3425
D.Rs 2255

30
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Question 9- The average of 9 observations 1s recorded as 124. Later 1t was
found that two observations with valu€s 64 and 28 were entered wrongly as

46 and 82.)Find the correct average of the 9 observations.

T 0- 9 STdcATehH] o1 39 124 o ®9 | &1 [o6I1 T3 2| 9I1e | I 917 717 foh
64 3T 28 [ IATA BT ATATHAT hl TeTd] & 46 3N 82 % &Y H a1 [hIT AT

oAqT| 9 STTAIRAT bl Hal I JTd i A.126
B. 122

30 C. 130

D.120
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D v 6H+ A8=93

el
X 463 83 5
Q\
g i
A = 1344
&
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Question 10- Find the average of first 40 odd numbers.

T 10- USAT 40 T &ATST T 3G JTd shifSg|

J(fomﬁ WITF—

A.1600

B. 40
30 C. 60

D.380
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